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ENEE 610 F20
Homework #2 Due Tu 09/22/20
!. For the following degree one gyrator circuit:

a. Draw the graph orienting to the right and down using the numbering of the components. Choose branches 1 and 2 as the tree and give the cut set and tie set matrices and the Av=Bi description using the branch by branch admittance 


b. Set up the semistate equations using Vs1 as the input and current –i1 as the output. 


c. From those equations give the input admittance y(s) = -i1(s)/vs1(s).  
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       2. For the following degree two circuit from Problem set #1: 

a. Using the 2x2 admittance matrix seen by the capacitors, set up the differential equations for the voltages on the capacitors. Express as a matrix differential equation. 

b. If current sources, as a 2-vector Is ,  are inserted as inputs across the capacitors and the 2-vector voltages, Vc ,  across the capacitors are taken as outputs, explain how to find the impedance matrix Z(s), Vc = ZIs.
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